Rk 26 FE B AWl S KEAKERAEM R (BAIRAE - IRHIX)

gt | WY e @ | W0 || 0 | B (e @ | WY e o | @0 [zmme] @ | B [memmsn] @ | W0 e o | BV e @ | WY |mesas] @ | W0 sl 6 | BV ek
o.40)Bmac | ®maar|  0.40)@mueL|muaL] 0400 mmaL| Baan|  0.45) Baer| BaeL|  0.40)mumaL|EaaL]  0.30) B B 0.30)@uEaL|muaL]  0.30)mmaL| BaaL|  0.40) BaseL| BaeL|  0.40)mmaL|BaaL]  0.40) B BuaL]  0.35
0.40)BmmL | mure|  0.40)@mumeLmuaL] 040 mmaL | Baal| 045 B mneL|  0.40)mm el BaaL]  0.30)BaaL | e 0.30)mum el muaL]  0.30 mmaL | Bl 0.40)®u e | maeL|  0.30)&m sl BaaL]  0.40)BaaL | ®ueL]  0.35
o.40)BmaL | ®maar|  0.40)@ueL|muaL] 0400 mmaL| Baar|  0.50) Baser| BaeL|  0.40)mumaL|®aaL]  0.30) B B 0.25)@umeLmuaL]  0.30)mmaL| BaaL|  0.40) BaseL| BueL|  0.40)mmaL|BaaL]  0.40) B BuaL] 0.35

0.40) 2w L] 0.40 2L RERL] 0. 408 F L BiaL]  0.40 &AL 2FE2eL]  0.40)8F 2L %2l 0.30

HE
e
o5
[
HE
e
&
s
o
w
=)
HE
e
R
s
HE
e
o
[
<
w
=)
HE
e
R
s
HE
e
o5
[
<
W
o
HE
e
o
[
3
e
&
[

0.40) k7L ®EzaL| 0. 40 = %L #HEeL]  0.35

0. 40 ZEAaL | #ERL] 040 R#FRLIEFERL] 040 2 F L £FEALl 050 && AL RFERL]  0.40)82F2L| RERLl 025 REAL | #FE2L]  0.30)R#FEARLIRFERL]  0.30 R 7L &FEAaLl  0.30)BFAL|#ERL]  0.40)#FERL| REARLl 0400 2% #FE2L]  0.35

0.40) 2L | £l 040w AL | Zael] 0400wl ZEeL] 050 8w RLZE2RL| 0402w 2] 0.30)&w R0 Bl | 0.30)&F20 | Bkl 0.30]%F 2Lkt 0.50)%FzL|fEL] 0.40 %%z fwzL]  0.30) %% L 2wzl 0.35

0. 40 ZEaL | #FERL] 040 #FERLIEFERL] 040 8% 2L BEAaLl 050 #F AL #FERL] 0408 F 2L RE2Ll  0.30)REARL | #FE2L]  0.30)R#FEARLIRFERL]  0.30)# L] £FaL]  0.50)8F AL #FE2RL]  0.40)#F 2L RE2Ll  0.40) 2% 2L #F%E2L]  0.40

0.40Q 557U w7l 0. 40 3 F L[ BEAL] 0. 40 L BE72L] 050 = el BERLl  0.30) %L el | 0.30) %z &L 0.30 %A BHEaeL]  0.30)5 AL 2wzl 0.50 8 F AL REAL] 0,40 8L BEaL]  0.40 =% 2L #E42Ll  0.40

0. 40 2EAaL | #FERL] 040 #FERLIRFERL] 040 8% 2L BEAaLl 050 &F AL #FERL] 0408 F 2L RE2Ll  0.30)REAL | #FE2L]  0.30)#FEARLIRFERL]  0.30)# L] £FaLl 0400 8% 2L #E2RL]  0.30)#F 2L RE42Ll  0.50) &% #FE2L]  0.40

0.40Q 557U el 0. 40 5 F L[ BEAL] 0. 40 L BE72L]  0.50 = el ERLl  0.40) % el L]  0.30) %zl &L 0.25)8 %A BHEeL]  0.40 8% a0 Rl 040 8FRL[REAL] 0,40 8 2L ®E2L]  0.40 =% L #E2Ll  0.40

0. 40 ZEaL | #FERL] 040 #FERLIRFERL] 040 8 F oL BEAaLl 0400 8F AL #FERL] 0408 2L RE2Ll  0.30)REARL | #FE2L]  0.30)R#FEARLIRFERL] 0408 FeL| £FaLl  0.50)®F AL #E2RL] 04008 F 2L RE2Ll 0400 2% 2L #FE2L]  0.40

0.40Q 557U el 0. 40 3 F L BEaL] 0. 40 L BE2L] 050 = el ERLl  0.40) % el L]  0.25)RmaL| &L 0.30 %A BHEaeL]  0.40 8% a0 RaaL]  0.30 R FRL[REAL] 0,40 =2 ®E2L]  0.40 =% 2L #E42Ll  0.40

0. 40 EEaL | #FERL] 040 #FERLIRFERL] 040 8% 2L BEaLl 050 #F AL #FE2RL]  0.30)#F 2L RE2Ll  0.30)REARL | #FE2L]  0.30)R#FEARLIRFERL] 0408 FeL| £FaLl 050 &F AL #FE2RL]  0.40)#F 2L RE42Ll  0.30) &% #FE2L]  0.35

0.40Q 57U w7 0. 40 3 F L[ BEAL] 0. 40 e ®E2L] 0. 40 = L[ BERLl  0.30) %L L] 0.30)%maL &L 0.30)8 %A BHEaeL]  0.50 8% AL Rzl 040 %R REAL] 0,40 8L ®EaL]  0.40 =% 2L #E42Ll  0.40

0. 40 2wl 2L 0.40 8 F2LIRFERLl 04058 % 2L BEaL] 040 8% AL #FE2eL] 040 82| REaL|  0.30) 2% AL #FEaL]  0.30)#FmaLRFE2RL] 050 L] BHaL]  0.40) %% AL 2L 0.40) 8 F 2L RE2L|  0.40) 2% 2L #%2L]  0.40

0. 40 w7eL| Bzl 0.40) AL | Bael] 0400wl ZEeL] 0400w ZE2t| 0.30) @R Bt 0.30)8wR0 Bl | 0.30 w20 Rl 0.50)%F a0kl 0.40]8%Fz0L | et 0.30)%w 2L ezt 0.40 %%z ®wzL]  0.40

0. 40 2wl 2L 0.40 8 F2LRFERL] 0408 % e BEaL] 040 8% AL F2eL]  0.30) 5 2L REaL|  0.30) 2% AL #FEaL]  0.25)#FEAaLRFERL] 04058 F 2L B5aL]  0.40) %% 2L #FE2RL]  0.40 8 F 2L RE42L|  0.40) 2% 2L #%2L]  0.40

0. 40 w7l | Ba7eL]  0.40) AL | Bael] 040wl BEeL] 0400w B2t 0.30)® @R Bt 0.30)8wR0 Bl 0.4008w20 | Bkl 0.4008%F 20wl 0.40]8%F a0 et 0.40)8%&7z0] ezt 0.40 %%z ® w7zl 0.40

0. 40 2L 2L 0.40 8 F2LIRFERL] 04058 % 2L BEaL] 040 8% AL F2eL]  0.30) 5 2L REaL|  0.35)REAaL|#FEaL]  0.30)#FmAaLRF2RL] 0505 el BHaL] 0.30) %% AL #FE2RL]  0.40)#F 2L RE2L|  0.40) 2% 2L #%2L]  0.40

0. 40 el | Bzl 0.40) AL | Bael] 0400wl ZEeL] 0400w ZEeL| 0.30) @R Bt 0.30)8wR0 Bl 0.30 w20 Bkl 0.4008%F 20wl 0.30]%F a0 et 0.40)%F7z0| ezt 0.30) %% L fwzL]  0.40

0. 40 2wl 2L 0.40 8 F2LIRFERL] 0408 % 2L BHEaL] 040 8% AL FE2eL]  0.30)5#F 2L REaL|  0.30) 2% AL #FEaL]  0.30)#FmaLRFeL]  0.30)% L] £HaL]  0.30) %% AL #FE2RL]  0.40)#F 2L RERL|  0.43) =% #FE2L]  0.40

0. 40 w7l | Bzl 0.40) AL | Bael] 0400wl BEeL] 0400w ZE2eL| 0.30)® @R Bt 0.30)8wa0 Bl 0.30)%w20 | Bkl 0.4008%F 20wl 0.30]%F L et 0.40)8%F7zL| L] 0.44)mw7sL]|® w7zt 0.35

0. 40 2wl 2L 0.40 8 F2LRFERL] 04058 % e BEaL] 040 8% AL FE2eL]  0.30) 5 2L REaL|  0.30) 2% AL #FEaL]  0.40 #FEaLRFERL] 04058 F L] BFaL]  0.30)RF AL 2L 0.30)#F L RE2L| 0412 %42 #%E2L]  0.35

0.40p AL REaL] 040 R FRL BEaL] 0. 40 ®ERL| BERL] 0. 40 =L BERLL  0.30) = el ®ERL|  0.30)RuaL| Bl 0.25 B WAL BiEaL] 0.30 8% AL REaL] 0,40 B R REAL] 040 8L BERL] 040 82| /ERLl 0.35

0. 40w eL| B2l 040wl Bl 040w R 0.40 WL ®%ERL|  0.30)w R0 a2l  0.40 %20 ®E L]  0.30 %2 L] 0.30R%F 2L ®EkL]  0.40Q8%F 2L L] 0.40 %%z w7t 0.40 %%z w72t 0.40

0.40p %L REaL] 0,40 B FRL BEaL] 0. 40 8 ERL| BERL]  0.50) =2l BERLL  0.30) = el ®ERL|  0.35)RuaL| BiaL| 0.30 8% aL| BiEaL]  0.30 %R Rzl 0.30)R/ERL[REAL] 040 8L BERL] 040 8= 2L ®ERLL 0.35

0.40) s | ®azL  0.40 L a2l 0. 40 &L ®Esel] 050 %%z Baset]  0.30) &L BE2RL|  0.40 %L Bz 0.30) &L ®Eer]  0.30) %L Bl 0.4008F2L| 2t  0.40 % &z ®E7eL]  0.30# 2| ®EzL]  0.35

0.40p L REaL] 0,40 B %R BEaL] 050 #ERL| BERLl 050 =2l BERLL  0.30) %L #ERL]  0.30)R%aL| Bl 0.30 8% aL| BiEaL]  0.30 7R REaL] 0,40 /L[ REAL] 04008 F L BExRL]  0.30)®muaL|/ERLl 0.3

0.40) w7 577l 0.40 5 F 2L 2L 04054 el SaaL]  0.50) %zl e  0.30 5 a0 ®aRL,  0.30f %L ®iaL]  0.30) %Al Fael]  0.40)8F 2L faaL|  0.40 %% 20| %20 0.40 BERLREZRL] 0.35
0. 40 AL #HERL]  0.40 2 FERLIRFERL] 0458 %R BEaL]  0.40)8FaL 2Rl 0.30 8 F 2L RERLl  0.30) 2L BEaL]  0.30)=EAL[RERL] 040 8 F L) REx2Ll 04002 %L #E2L]  0.30 BEpU | EEaL]l 0.30
SEARLIRERL 0.40 BERL I RERL] 0.40 R E L ERLL 0.30 ERLI 2L 0.30 BERL I RERLL 040 E 2L ERLL 0.40 RERLIERL] 0.25

0.40 0.40 0.41 0.45 0.34 0.31 0.30 0.36 0.39 0.38 0.39 0.37
0.40 0.40 0.50 0.50 0.40 0.40 0.40 0.50 0.50 0.40 0.50 0.40
0.40 0.40 0.40 0.40 0.30 0.25 0.25 0.30 0.30 0.30 0.30 0.25
CRLR B ) 0.38

R A A 0.50

A ] S A 0.25




TRk 26 FE B mE S OKkEKERAEMNR(BEIRE RKAHEK)

4H 5A4 6 H 7H 8H 9AH 104 114 124 1H 2H 3H
g @ | @y |mmmnl @ | B |meme] /& | By |zemmx] @ | B0 [memx] & | B |mems] @ | @Y [mwer] @ | B |rame] /& | B |zemms| @ | B0 [reax] & | B |zess] @ | B0 |zwer] @ | B |memEs
1H e#Enl{asel] o.40pwaL|manl] 0.40)msnL|mEn| 0.40 8 aLmuaL]  0.45 &L RenL|  0.35)REnL| fEnaL| 0.30 mmaL ] manL]  0.30)®snL|mEnL| 0.30)swaLmunaL]  0.40 &m0 RenL] 040 RmE L fEaL]  0.40 mmaL]| ®anL]  0.35
20 sl mEaL] 040 BEaL| il 040wl REeL  0.40 s EaL  REaL ] 0.45) Bl ®EaL]  0.40)RE L L] 0.30 sEaL BaaL|  0.30) Rl | Rl 0.30 AL maEaL] 0,40  BEaL| Bl 0.30)RE L EL]  0.40 mEAL  BEaL]  0.35
3H |EaL|mEaL] 040 mEaL|REal] 040 mE L mEeL]  0.40 mEaLREaL]  0.50)mEaL| REnL] 040 RERL EaL]  0.30 sE AL Bl 0.25) REaL| mEneL|  0.30)sEaL| mEaL] 040 REaL| REaL] 040 mE L EaL] 040 mEAaL| REaL]  0.35
48 |mua|mEeL] 040 RERL REAL] 040 REAaL BEaL] 040 REeL il 0.40 5 E AL BEaL]  0.40) Bl ®EaL]  0.30)RE L L] 0.30 sEaL BEaL ] 0.30) mEaeL| ®EaL|  0.40) AL BEaL]  0.40) Bl Bl 0.40)RE L ERL] 0.35
5H |awaL|mEaL] 0.40)mEaL|REnl|  0.40)RmE L mEeL]  0.40 mmaLmEaL]  0.50) Rl REnL] 040 RERL EaL]  0.25)sE AL EaL]  0.30) L mEneL|  0.30)sEaL| mEaL]  0.30)REaL| Rl 0.40)mE L EaL]  0.40 EAaL| RERL]  0.35

6H |®EARLIRERL] 0.40 5% 2L BERLl 0. 40 % %L RuEeL| 0408 %L RHERL]  0.50)%HRL| #ERL]  0.40f %% AL #FERL]  0.30] %R BEaLl  0.30 % %aL | RuaeL|  0.30#% el Rl 0.50)%HRL #ERL]  0.40) %7

B
&
C
XE
B
&
C

0.30) w7 =72l 0.30

7TH |EELU REERL 0.40)REaeL| Rl 0.40)RFEARLIRFERL]  0.40) BEAL| BERL] 0.0 RFEAL|REAL]  0.40 8% aL | REaL|  0.30)RuaL| Rl 0.30)RHERL[RHERL]  0.35)RERL)| RERL]  0.50)RFEARL| REAL]  0.40]®% 2L REzaLl  0.40)R%aL| Ryl  0.40

S8H |RERLIHEFRL] 040 8L BE2L]  0.40 = L[ BERLl  0.40) % e L] 0.50) 2wzl &L  0.30)8 % AL BHEaeL]  0.30 &2 2wzl 0.30 8 F L BEaL]  0.30) L ®ERL]  0.50 =L #FaL]  0.40) %% aL| L] 0.40) 2wz &L 0.40

OH |EEAL [ REERLl 0.40)R%EaL| Rl 040 RFERL|RFERL]  0.40) BHERL| BERL]  0.50)RFAL|REAL]  0.40 2% aL | REzaL|  0.30)RuaL| Rl 0.30)R#ERL[RHERL]  0.30)RHERL)| RiEARL]  0.400R%FAL| ®EARL]  0.30] &% 2L REzL|  0.50 Rzl Rl 0.40

10 H |EERL EERLl 040 RFERLIRERLl  0.40)RFARL| #ERL]  0.400 2% RL | #ERL]  0.50 8% 2L BEaL| 0. 40 =L Rl 0.30)RFERLRERL]  0.25)#FARL|®#FERL]  0.400 2% AL BEaL] 0. 40 & %L RuzeL] 040 8% RHERL  0.40) RFE4RL| #EARL]  0.40

11 H &R EE2L] 0.40)RF R RERL] 040 8L RERLl 0. 4082 BERLl  0.35) Rl #EeL]  0.40) 8% L) BERLl  0.30 &L REaL]  0.30 R REAL]  0.40 8L BERL]  0.50 =L ERLL  0.40) %L #ERLl  0.40) RHzaL] &2l 0.40

120 (&L EERL] 040 RFERLIRERLl  0.40)#FEARL| #ERL]  0.400#FRL | #E2RL]  0.50 8 %L BEaL| 040 8L Rl 0.20)RFRL|RERL]  0.30f =AU #FRL]  0.40) 8% AL  BEaL]  0.30) &%zl RuzeL| 040 8% oL Rl 0.40) RHE4RL| #EARL]  0.40

13 H &R RE2L] 040 RF R RERL] 040 R RERLl 0. 408 2L BERLl  0.50) %L #EeL]  0.30)R%aL) BHERLl  0.30 8 &L REaL]  0.30 /R REAL] 040 8F L #ERL]  0.50 =L ERLL  0.40) %L #ELRLl  0.30) Rz &2l 0.30

14 H (&L EERLl 040 RFERLIRERLL  0.40)RFEARL| #ERL]  0.400#FRL | #ERL] 0. 408 %2 BEaL| 030 =L Rl 0.30)RFRLIRERL]  0.30f#FARL| #FRL]  0.40)#% AL BEaL] 0. 40 & %L REzeL| 040 8% eLRHERL]  0.40) RFE4RL| #EARL]  0.40

15H s AE2Ll 0408 F L REARL] 040 8L RERLl 0. 40 %% 2L BERLl  0.40) %L #E2eL]  0.40) 8%z BERLl  0.30 &R HEaL]  0.30 &L %2z 0.50 8 R RERL] 040 82U ERLL  0.40) %% 2L #ERLl  0.40) %z ®E2Ll  0.40

16 B |waL| el 0.40 8% aL | ®HEaeL]  0.40 %L Ruwal] 040 %R ®EaL]  0.30 L ®ERL]  0.30) =L #ERLl  0.30)%waL]| el  0.30) R WAL Bl  0.50 &AL RiaL] 0,40 %20 BEaL]  0.30]#FaL| ®E4RL]  0.40 =L #E2Ll  0.40

17 H sz REZ2LL 040 8 F L REARL] 040 8L ®ERLl 0. 40 =% 2L BERLl  0.40) %L #EeL]  0.30) 8%z ®ERLl  0.30) & aL HEaL]  0.25 &AL REaL] 040 82U BERL] 0. 40 %L BERLL  0.40) %% 2L #ERLl  0.40) %z ®E2Ll  0.40

18 H | &ERL RFE2L]  0.400 8% | %F2a0] 0400w Ba2aL]  0.40f w4l Bl ] 0400wl ®aeL| 0.30) w0 Bl 0.30 @ %R0 Bl 0.4008w20 | Bl 0.400%F 20| ] 0.40]5%F a0 et 0.40)8%#z0L ez 0.40 2% L] fwzL]  0.40

19H s AE2L] 0408 FE L RERL] 040 8L RERLl 0. 40 %% 2L BERLl  0.40) %L #EeL]  0.30) %L ®ERLl  0.35) & aL | HaL]  0.30 &L A% 2aL]  0.50 ®FE R ®EARL]  0.30) 8L ERLl  0.40) %% 2L #ERLl  0.40) RHzaL] ®E2Ll  0.40

20 [ |EELRL RERLL 0. 40 = F L BERLL  0.40) = el el 0.30) %L ®HEaeL]  0.40 &AL REaL]  0.30 %L et 0.30 FE L ®ERL]  0.30 @ el ERL]  0.40) %% aL| #ELeL|  0.30) R %L Rl  0.40)%aL | RiEaeL]  0.30) &R w2zl 0.45

21 H | RERL RERLL 04082 BERLL  0.40) %% 2L #E2L  0.40) 8%z BERLl  0.40 & aL EaL]  0.30 &R REaL] 030 #E R RERLl  0.30 2L ERLL  0.30) %L #ERLl  0.30) Rz B2l 0.40 & aL | RiEaL]  0.42)& 2L R0 0.40

22 1 |BELRL RERLL 040 = F 2L BERLL 0.40) = aL] el 0.40) %L BHEaeL]  0.40 &AL REaL] 040 %20 REaL] 0. 40 8F L BEaL]  0.30 =L ERL]  0.40) %% aL #EeL|  0.30) 2% &L  0.40)%aL | RiaeL]  0.43) &L w2zl 0.3

23 H |RERL RERLL 04082 BERLL  0.40) %L #ERLl  0.40) 8%z BERLl  0.40 & aL el 0.30 &L REaL]  0.30]#E R RERLl 040 8 HE 2L ERLL  0.40) %L #ERLl  0.30) Rz B2l 0.30) & aL | RiEaL]  0.42)& 2L Rzl 0.3

24 0 |BEAL|BERL] 0.400RF AL &EALl 0. 400 B %L BEaLl 040 R w7 Rl 0.40)RFERL|RERL]  0.30)BFEAL| BERL]  0.30fRFAL| &EALl  0.25)&%2aL REzL 0.30)B%aL[ Rl 0.40)RFERL|RERL]  0.400BFEAL|®#FERL]  0.41|#FARL| &%2L] 0.40

25 H |EARLIRERL] 040 58E 2L RERLl 040 %ERL RERLl 040 %% L ERLl  0.40) %L 52 L]  0.30 %A BERL]  0.40)8%E 2L ERLl  0.30] %% L ®E2L|  0.30) &L ERL]  0.40 2L ®ERL]  0.408%EARL| RERL]  0.40) %% RE2L]  0.40

26 0 |®BEAL|BERL]  0.400RF AL &EALl 0. 400 & %L BEzeL) 040 R w7 Rl 0.50)RFERL|RERL]  0.30)BFEAL| BFEARL]  0.35)RFEAL| &%ALl  0.30)&% 2L RuzLl 0.30)B%aL[ Rl 0.30)RFERL|RERL]  0.40)BFAL|®#FERL]  0.400&FAL| &%2L]  0.35

27 H | RERL RERLL 0.40) 8% 2L ERLL  0.40) %L EeL|  0.40) 8%z #HERLl  0.50) &R EaL]  0.30 &L REaL] 040 8 FE R ERL  0.30 5 H 2L ERLl  0.30) %% el #ERL|  0.40) %%z ®HE2Ll  0.40) %z iEaL]  0.25) &L R%2zL]  0.3b

28 H |®#EAL|BERL]  0.400 &% AL &%AL] 0400 & %L BEzeL) 040 R %L Rl 0.50)RFEARL|RERL]  0.30)BFEAL|BFEARL]  0.30f&FAL| &FAaL]  0.30) &% 2L RuzLl  0.30)B%aL Rl 0.40)RFERL|RERL]  0.40BFEAL|®#FERL]  0.35]&#FAL| &%2L]  0.35

29 H |RERL RERLL 0.40) 8 FE 2L ERLL  0.40) %% eL] ERL|  0.40) %%z BERLl  0.50) & aL | HEaL]  0.30)E 2L REaL]  0.30 8% 2L SERL]  0.30) 2L ERLl  0.40) %% L #ERLl  0.40) %%z L] ®HE2eLl  0.40 BERLIREZRL] 0.35
30H | & ERL | RERLL 0400 2FERL BERLl  0.40)RE el 2L 0.45) =% ®ERLl  0.40)8 &AL REaL]  0.30 &R REaL]  0.30 L RERL]  0.30) @l RERLl  0.40) =L #ERLl  0.40) Rzl &L 0.30 BEpU | EEaL]l 0.20
31H ReEeL [ RERLL 0.40 BERL I RERLL 0.40 R E L ERLL 0.30 RERL %L 0.28 BERL I RERLL 040 E 2L ERLL 0.40 BERLREZRL] 0.30
TR E 0.40 0.40 0.40 0.44 0.34 0.31 0.30 0.36 0.39 0.38 0.39 0.37
o4 ) 0.40 0.40 0.45 0.50 0.40 0.40 0.40 0.50 0.50 0.40 0.50 0.45
ARAE 0.40 0.40 0.30 0.30 0.30 0.20 0.25 0.30 0.30 0.30 0.25 0.20

CRLR B ) 0.37

R A A 0.50

A ] S A 0.20




Wk 26 AREE S R T B K E K E B AR R (ERRAE - KRJIEHLX )

gt | WY e @ | W0 || 0 | B (e @ | WY e o | @0 [zmme] @ | B [memmsn] @ | W0 e o | BV e @ | WY |mesas] @ | W0 sl 6 | BV ek
o.40)Bmac | maar|  0.40)@muaL|muaL] 0400 mmaL| Baan|  0.40) Baser| BaeL|  0.40)muEmaL|BaaL]  0.40) B B 0.40)@ueL|muaL] 0400 mmaL| Baar|  0.40) BaseL| BaeL|  0.50 @Al BaaL]  0.50) B B 0.50
0.40)BmmL | mure|  0.40)@mumeLmuaL] 040 muaL | Baal] 040 B mneL|  0.40)EmuaL | BaaL]  0.40)BaaL | il 0.40)mum L] 040 BmEaL | Bl 0.40)®u e | maeL|  0.40)®maL BaaL]  0.50)BuaL | RE2L]  0.50
o.40)Bmac | ®maar|  0.40)@uaL|muaL]  0.400muaL| Baan]  0.40) Baser| BaeL|  0.40)mumaL|EaaL]  0.40)Buan| B 0.40)@ueL|muaL] 0400 mmaL| BaaL|  0.40) BaseL| BueL|  0.50 @Al BaaL]  0.50) B B 0.50

0.40) 2w L] 0.40 2L RERL] 0. 408 F L BHaL]  0.40 &AL FE2eL]  0.40)8F 2L %2l 0.40

HE
e
o
[
HE
e
&
e
<
W
=
HE
e
&
e
HE
e
o
[
<
W
=
HE
e
&
e
HE
e
o
[
.o
ol
=)
HE
e
o
[
3
e
&
[

0.50) szl ®mzaL|  0.50 # % zeL|#HE2eL]  0.50

0. 40 ZFAaL | #FERL] 040 R#FRLIEFERL] 04008 F L £FEAaLl 0400 8F AL RERL] 040082 F 2L RE2Ll  0.30)RFEARL | #FE2RL]  0.40 R#FERLIEFERL] 040 77U £FEAaLl  0.40)BF AL #ERL] 050 82 F 2L RE42Ll 0502 %2 #FE2L]  0.45

0.40Q 5570 | Bz 0. 40 3 F L BEaL] 035 FRL| ®E2L] 0. 40 = L[ BERLl  0.40) % el L] 0.40) 2wzl &L 0.40 8% AL BHEaeL]  0.40 8% 2L Rzl 0.50 %R REAL]  0.50 L ®EaL]  0.30)# el #ERLl  0.25

0. 40 ZEaL | #FERL] 040 #FERLIRFERL] 040 8% L BEAaLl 040 8F AL #FERL] 0408 F 2L RE2Ll 04002 E 2L #FE2L]  0.40 #FEA2LIRFERL] 0408 FeL| £FaLl  0.50)BF AL #FE2RL] 050 8 F 2L RE42Ll  0.50) &% #FE2L]  0.45

0.40Q 557U w7l 0. 40 3 F L[ BEAL] 0. 40 L ®EaL] 0. 40 = L[ BERLl  0.35) &L il | 0.40) %m0 &eel| 0.40 8% AL BHEaeL] 040 8% 2L Rzl 0.50 %R REAL]  0.50 el ®EaL]  0.50 =L #ERLl  0.45

0. 40 ZEaL | #FERL]  0.35)R#FERLIRFERL] 040 8% oL BEAaLl 0400 8F AL #FERL] 0408 F 2L RE2Ll 04002 E 2L #F 2Ll 0.40)8#FEA2LIRFERL] 0408 FeL| £FaLl  0.50)®F AL #E2RL] 04008 F 2L RE42Ll  0.50) 2% #FE2L]  0.45

0.40Q 557U w7l 0. 40 5 F L[ BEAL] 0. 40 L ®E2L] 0. 40 = L[ ERLl  0.40) % el L]  0.40) 2wzl &L 0.35) %A BHEaeL]  0.40 8% 2L Rzl 0.50 %R REAL]  0.50 L ®E2L]  0.50 &= el #E42Ll  0.50

0. 40 ZEAaL | #FERL] 040 #FERLIRFERL] 040 8 F 2L BEAaLl 040 8F AL #FERL] 0408 F 2L RE2Ll 04002 FE 2L #F 2Ll 0.40 R#FEA2LIRFERL] 0408 FeL| £FaLl  0.50)BF AL #FE2RL] 050 8 F 2L RE42Ll  0.50) &% #FE2L]  0.45

0.40Q 557U Bzl 0. 40 3 F L[ BEaL] 0. 40 L ®E2L] 0. 40 = L[ ERLl  0.40) % el L]  0.40) 2wzl &L  0.40 8% AL BHEaeL]  0.40 8% 2L Rzl 0.40 %L BEAL]  0.50 2L ®EaL]  0.50 = el #ERLl  0.45

0. 40 ZEaL | #FERL] 040 #FERLIEFERL] 040 8% 2L BEALl 0400 8F AL #FERL] 0408 F 2L RE2Ll 04002 FE 2L #F 2Ll 0.40 #FEA2LIRFERL] 0408 FeL| £FaLl  0.50)BF AL #FE2RL] 050 8 2L RE2Ll  0.30) &% #FE2L]  0.30

0.40Q 557U w7l 0. 40 3 F L BEAL] 0. 40 e ®E2L] 0. 40 = L[ BERLl  0.40) % el L]  0.40) %m0 &L  0.40 8% AL BHEaeL]  0.35) %A Rzl 0.50 %L 2% AL]  0.50 L ®EaL]  0.50 = el #ERLl  0.45

0. 40 a2l 0.40 8 F2LIRFERL] 04058 % 2L BEaL] 040 8% AL #FE2eL] 040 8 2L RE2L 040 2% AL #FEaL]  0.40 #FEaLRFERL] 04058 F e B2l 0.50)%F AL #FE2eL]  0.50 8 F 2L RE42L|  0.50) R %L #%zL]  0.45

0. 40 w7l | BaeL]  0.40) AL | Bael] 040wl BEeL] 0400w ZE2RL| 0400w Bt 0.4008 w20 Bl | 0.4008 w20 il 0.4008%F 20| il 0.50)%F a0 e 0.30)%wzL] ezt 0.50) %% L] f w2l 0.45

0. 40 2wl 2L 0.40 8 F2LIRFERL] 04058 % eL| BEaL] 040 8% AL FE2eL] 040 8 2L REaL] 04008 %L #FaL]  0.35) AL RFRL] 0405 F L] BHEaL]  0.50 %% AL #FE2eL]  0.50 8 F 2L RE2L|  0.50) 2% #%2aL]  0.45

0. 40 el | Bzl 0.40) AL | Bael] 040wl BEeL] 0400w ZEeL| 0400w Bt 0.4008 w20 Bl | 0.40 8 w20 Eil| 0.4008%F 20| ] 0.50)% a0 fwt]  0.50 %z ezt 0.50) %% L] ®wzL] 0.45

0. 40 2wl 2L 0.40 8 F2LIRFERLl 04058 % e BEaL] 040 8% AL FE2eL] 040 8 2L RE2Ll 040 2% 2L #FEaL]  0.40 #FEaLRFERL] 04058 F L] BFaL]  0.40) %%z #FE2eL]  0.50 8 F 2L RE2L|  0.50)# %L &%zl 0.45

0. 40 el | Ba7eL]  0.40) AL | Bael] 0.38)wAL|®EeL| 0400w ZE2RL| 0400w Bt 0.4008 w20 Bl | 0.40 w20 il 0.400%F 20| ] 0.50)%F a0 et 0.50 %z ezt 0.30) %% L] fwzL]  0.40

0. 40 2wl 2L 0.40 8 F2LIRFERLl 0408 % e BEaL] 040 8% AL #FE2RL] 040 8 2L RE2L 040 2% 2L #FEaL]  0.40 #FEaLRFERL] 0405 %L BFaL]  0.50 =&AL 2L 0.50 8 F 2L RE2L|  0.48) =&AL &2l 0.45

0.40) el | Bzl 0.40f AL | Bael] 040wl BEeL] 0400w ZERL| 0400w Bt 0.4008 w20 Bl | 0.40 8w il 0.4008%F 20| ] 0.50)%F 0| et 0.50)%F L] ezt 0.48)Bws L] fwzL] 0.45

0. 40 2wl 2L 0.40 8 F2LIRFERLl 04058 % e BEaL] 040 8% AL #FE2RL] 040 8 2L RE2Ll 0402 %L #FEaL]  0.40 #FEaLRFERL] 0405 F L] B5aL]  0.50 =&AL #FE2RL]  0.40) 8 F 2L RERL|  0.48) R F4aL#FEzaL]  0.45

0.40p %L REaL] 040 R %R BEaL] 0. 40 ®ERL| BERL] 0. 40 =L BERLL 040 %L BERL  0.40) 2% aL| Bl  0.35 B WAL BiEaL] 0.40)8 %z Rzl 0.50)BmFEARLIREAL] 050 ®FERL| BERLl 04T =L BERLL  0.45

0.35) s | Bzl 0.30 &AL #EaL] 040 8L ®Eel] 04008 %F 2L Baset]  0.40 &L BE2L]  0.40 &L Bz 0.40 & L #EeL] 04008 2L| Bl 0508 %z2L| 2t  0.50 % 2L ®E7eL|  0.50 2L ®EzL]  0.45

0.40p L REaL] 040 R FRL [ BEaL] 0. 40 8 ERL| BERL] 0. 40 =L BERLL 040 =L BERL|  0.40)R%aL| Bl 0.40 8% aL| BiEaL] 040 8% AL REaL] 040 BmFERLREAL] 050 ® R BERL]  0.50 &L BERLl  0.45

0.40) s | Bzt 0.40 8L a2 0. 40 &L ®Eiel] 04008 % 72U Baset]  0.40 &L BE2L]  0.40 %L Bz 0.40 & L #EeL] 040082 Bl 050 %%z Bt  0.50 % &z ®E7eL]  0.30 2L ®EzL]  0.40

0.40p L REaL] 040 R %L BEaL] 0. 40 8 ERL| BERL] 0. 40 =2l BERLL 040 =L BERL|  0.40)RHaL| Bl 0.40 8% aL| BiEaL] 0408 %z REzaL]  0.50)BmFEARLIREAL] 050 ® R BERL]  0.50 &L BERLl  0.45

0.40) w7 577l 0.40 58 F 2L Rl 04058 el SaaL]  0.40 % aL| sFaL]  0.40 58 2| a7 0. 40 F L &L 0.40 %Al Fael]  0.40)5 %L Sz |  0.50 %20 %20 0.50 BELRLIREZRL] 0.45
0. 40 AL #eERL]  0.40 2 F 2L RFERL] 040 2L BEaL]  0.40)8maL| #ERL] 040 8 F 2L BRERLl 0. 4002 F 2L BEaLl 0400 =E AL RERL] 040 8 2L BE2Ll  0.50 &% #HE2L]  0.30 BERU el 0.45
SEARLIRERL 0.40 BERL I RERLL 0.40 R E L ERLL 0.40 RERLI 2L 0.35 BERL I RERLL 050 E L ERLL 0.50 RERLIERL] 0.45

0.40 0.40 0.40 0.40 0.40 0.40 0.39 0.40 0.48 0.48 0.47 0.44
0.40 0.40 0.40 0.40 0.40 0.40 0.40 0.40 0.50 0.50 0.50 0.50
0.35 0.35 0.35 0.40 0.35 0.30 0.35 0.35 0.40 0.30 0.30 0.25
CRLR B ) 0.42

R A A 0.50

A ] S A 0.25




